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SN Bl
HAZB0IAANE A BA
Chol:DIRI M| A Bl (Se:a)
- - _ XN
SN FHH . S(BH) - HEAY - BE=2 Ol AF 04 il it o HR=2
oolgeol NS A% 7Y
1,000,0008 * 1% 1,000
975,117 793,202 181,915
_ = 117,000
EX AUE e
< 92,900
= 765,217
155,903 444,375 N\288,472
X =zel = 10,900
= 145,003
N 39,792 73,970 A34,178
201 LBt Ad| 29,592 31,020 A1,428
01 ARl 11,662 13,100 A 1,438
OYpt+gH| 11,662
—SAFE X (M) R
16,5009 * 102tA * 122 1,980
—SAEX(A3) 7Y
36,0008 * 592 » 128 2,160
—SAEXI(B4) P
24,5008 * 3EtA x 128 882
—AHESUFNRE(RERE) 6,640
Zo|0| A S S43002 25
1,50080 * 2% * 2,00004 6,000
SY3 AFM S H
40,0008 * 4% « 43] 640
02 ZZ2IH 17,930 17,920 10
OBZR3 2 HAl 6,250
—EX0IS SIIZ EXM S8
2509 * 50,0000 * 0.5 6,250
OAl&ZHIR I 11,680
—XNHNDE 2SS SXNE4
13,000,00080 = 2CH * 0.08 2,080
—SERANAY SXNEH(NUHTA)
800,0008 + 1CH * 128 9,600
202 01t 7,200 1,400 5,800
01 =LHOIHI 7,200 1,400 5,800
OX=E=Z AA
20,0008 * 3% x 52 » 128® 3,600
OEXO0IS SXZA
20,0008 * 3% * 52 » 128 3,600
405 THAHE S 3,000 41,550 /38,550
01 RAYSEFSH| 3,000 41,550 138,550
OXNNZZZUTHAH 7 (A2R)
30,0002 * 100 3,000
N=ZHE B 26,900 22,786 4,114
201 eyl 9,900 7,89 2,004
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—NEESHASE(HPI0502EZEEES)
2e(5 9,900
22t 3(350m!)
200,000& * 1& * 3M = 128 7,200
- AoEX 17,000& * 58 * 128 1,020
A2EZX 15,000& = 58 * 128 900
N KE=DN 13,000& ~ 58 * 128 780
401 AIEHIZL 2 10,000 10,000
04 Al&H| 10,000 10,000
OPNESE=S &8 &Xl 100,000& = 100& 10,000
405 KHaHF =S| 7,000 650 6,350
01 KAEES u| 7,000 650 6,350
OHP Tt 2 =2&X ¢ 6,500,000 6,500
OXN&EIIEE EHSHE btelct
10,000& * 50& 500
42,000 84,000 A42,000
NESSFENE MASALS < 8,400
= 33,600
42,000 84,000 42,000
207 A I | = 8,400
= 33,600
02 W™ AIHEH| 42,000 84,000 42,000
(OPNESES= S ASEARS 42,000, 000& 42,000
= 8,400
o 33,600
ESNSI EEXX =& 44 711 56,758 N12,047
101 2124 d| 27,666 29,998 N2,332
10 JI2ZHHIZ2EXNSE S 27,666 29,998 N2,332
ORSAEEIXY gREX 27,666
=J=22 29,430 * 3Y x 2502 22,073
— 52422 29,4303 * 3™ x 35 3,091
—4AU2E = 25,164,000& = 0.0994 2,502
201 LBtE2HH| 12,725 23,760 A 11,035
01 AtR22ldl 475 10,000 N9,525
Ogddt=24| 475
—SSNMNEEXIIYE AMEANMEON S
N S22 HISEMZE5,0008 * 58A 475
02 =324l 12,250 13,760 A 1,510
o322 % | 12,250
—ESAMEYXIXY AAEAN EX(0]
H2AHCl S) 12,250
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SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
202 44l 3,600 3,000 600
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ORSASEEIXY M AFA XA}
20,000& » 3% = 10 x 6 3,600
203 &R =&H| 720 0 720
03 AIMFXHIZE=XH| 720 0 720
ORSHEEZXY L XA AR5
720,000 720
SEAMLRANHSHER Y 250 ° 2500
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202 OfH| 2,500 0 2,500
o= 2,500
01 =2UWdodl 2,500 0 2,500
ORSMARAOIMSLEXY ADEX 0
u 2,500,000& 2,500
& 2,500
661,410 195,319 466,091
Nl BB SHALS = 117,000
< 82,000
= 462,410
EXNSESEEY 29 29,240 14,319 14,921
201 B2 AH| 5,400 7,119 A1,719
01 AtR2t2ldl 1,200 3,000 A 1,800
Odet=2H| 1,200
~EXNZHHRY 2% AREE P
100,000 = 123 1,200
02 2394 4,200 4,119 81
OAl & &H|I s Xl 4,200
—LMISMH | Xl2t2lt] 4,200,000 4,200
202 (4| 3,840 7,200 A 3,360
01 22Ul 3,840 7,200 N 3,360
OENZSHIY A2 =7
20,000 * 4% « 42 « 12& 3,840
207 AW 20,000 20,000
01 H3xxE49H| 20,000 20,000
OEXNSSEEY HUlsd 20,000,000 20,000
632,170 178,900 453,270
2% 9 ASHs BEAY = 117,000
o= 82,000
= 433,170
101 14| 9,610 0 9,610
10 JI2ZHHIZ2EXNSEE S 9,610 0 9,610
OMZFTA DXDA JFRRLEA HREX 9,610
—J|2=2 29,4303 * 14 » 260 7,652
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—ASHSE 28 PAXE 7Y
350,000& = 58 1,750
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~MEAZH 226 EX 2Y
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1,50020 * 3,00004 4,500
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—MEASIRS 2d4d
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—MZEA DX - DA LERY
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7,260 7,260
202 o4l CS 500
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2B E 0l A
HM.EX HE 22|
£Ho|: X 21 & S S ALY (Lo ad)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
OM=4A &% oHHE M&H 45,000, 000& 45,000
524,500 170,000 354,500
405 KA SHI = 117,000
= 81,500
= 326,000
01 K& =EFSHI 524,500 170,000 354,500
O HEEZH P2
10,000,000& = 1CH 10,000
= 3,000
= 2,000
= 5,000
ON=AEEZE BHZZHE SETPY
8,000,000& * 1CH 8,000
= 2,000
o= 1,000
= 5,000
OEzg¥E H& AX| 250,000& = 926CH 231,500
= 50,000
= 34,500
= 147,000
oOd=ds ME &X
10,000& * 27,500 275,000
= 62,000
o= 44,000
= 169,000
E Xl 2tel 111,389 83,088 28,301
HE Z AKX 2t 104,389 80,088 24,301
101 Q1244 H| 10,711 10,000 711
10 JIZHZ22NEES 10,711 10,000 711
OMEZAXIIEAIEE2E X 10,711
—Jles 29,430 * 19 = 290! 8,535
—54I22Y 29,430& * 198 » 414 1,207
—4AU2E = 9,742,000& * 0.0994 969
201 L8249 H| 88,878 62,888 25,990
01 At22t2ldl 77,503 57,338 20,165
Ogddt=24| 75,263
—Xotg R =X 2
2,200& * 1,600% 3,520
—JHNESAIXIL &2 2
12& = 270,000& 3,240
—E2H XNIIE=HEH(Ao) ARE 2
210,000& * 5& = 23| 2,100




SNSRI

mmET| A= B2
CHel E X 2t (cHel: &S
SN (BH) - MBEAY - BAS 0 Ak 2 %‘;f{;f; inE=Er
—DET2IED| ARE R (HSXE &
&) 160,000& * 3 = 23] 960
—Xot Z2E++2 50,675
SFR ABLSE
6533 * 120,0002 X| * 0.5 39,180
NRBT ABL42
6,270& * 2 0002 Xl = 0.5 6,270
COIMET HUAS a4
20,900& = 250E X 5,225
—Xot2dA 22X 2L 7,968
c ZAHUAEX S
12&%276,0002 XIx1.1%0.9x0.5%0.9 1,476
SHEINE 2 ZHEA
10& = 276,0000H4 2,760
BEXAN
128 %276 ,000&! X|*1.1%0.9%0.5%0.9 1,476
BN == 263 = 10,00000 * 38 780
- IHEZBAIXIF 2
12&%276,0002 X x1.1%0.9%0.5%0.9 1,476
“TNEXIS(HM) oI
60,000& * 408fA 2,400
—XIJIEAIE EHEX 2L
1,000& * 1,00001 * 23| 2,000
—&4=9 MEOHESAIXIIF ZAEE)
50,000& * 1459 x 23] 1,400
—XJIEH SHUEE &
1,000& * 1,0000H 1,000
Osgsg 2,240
—SEaElYAs +g
70,0003 * 8H x 43| 2,240
02 2294l 11,375 5,550 5,825
ozZzZez ¥ MA 11,375
—HEXF SXNE LS
210& = 50,0000H 10,500
—2SNED| UHE E2
1,750& * 5000H 875
202 (4| 4,800 7,200 A2,400
01 22Ul 4,800 7,200 A2,400
ONLZAIXI} Y2EX
20,000 * 4% = 52 x 12& 4,800
SS4 sy 7,000 3,000 4,000
207 A O | 5,000 3,000 2,000
01 H3xE49H| 5,000 3,000 2,000
ONLEREZHI S 29| 5,000, 000& 5,000
303 LAaZ2 2,000 0 2,000




SNSRI

mmET| A= B2
CHel E X 2t (cHel: &S
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
01 Za3 2,000 0 2,000
OEXHHAH LG O RIBHAI D ZAZ
500,000& * 494 2,000
A2 46,415 70,420 AN 24,005
AFHEY HAG 46,415 70,420 N 24,005
201 ¥Bt2AH| 39,215 28,640 10,575
01 AFR2t2ld] 39,215 28,640 10,575
Odet=g2H| 32,915
—ASEI HEEIA L SAUY 242
30,000& = 1002 3,000
— A ESSEE T AL & HAIUHEH =3 26,715
- AFE S0 1000m 0] BF
184,000& * 90A 16,560
AFEZ S0l 1000m O] 4~3000m* O] BH
308,000& = 20 6, 160
AP =01 3000m 0] &~5000m* O] 8+
430,000& * 5A 2,150
AFE S0l 5000m* O] A
615,000& = 3A 1,845
—ABFI L PEENT ENT KF
10,000& = 200A 2,000
~AZS2OE Hol ADEE 2
350,000& * 23] 700
—AFEHAYE 2 100,000& * 53 500
o294 6,300
_ Az Ao
70,000& * 15H *x 23] 2,100
—SYIAARIRE 2T
70,000& = 10H = 63l 4,200
202 (4| 7,200 10,080 A2,880
01 22Ul 7,200 10,080 A2,880
OES sEaol
20,000 * 6H » 5 * 12& 7,200
496,000 50,000 446,000
FHEE A = 100,000
& 135,000
= 261,000
496,000 50,000 446,000
SEZNSY A = 100000
< 135,000
= 261,000
70,000 50,000 20,000
Bl & A H o= 35,000
= 35,000
402 D12 RH= 0| A 70,000 50,000 20,000
[ 35,000




_‘?‘_A—l cZ=SH0| Al

(=== eyl gy —}
JMEX A5 2el
celA=ae

SN (BH) - MBEAY - BAS 0 Ak 2 dd s inE=Er
Ofl At 04
402 212t XHE0| ™ = 35,000
01 Q28 x 70,000 50,000 20,000
OBIEEA 700,000& = 100= 70,000
& 35,000
= 35,000
SAIESIHH RE=FH SHIMEAIE 176,000 176,000
401 AlEHIZ 20| 91,000 91,000
04 Al&H| 91,000 91,000
ORREs =H 29 T&ZAHGIHOIE)
91,000,000 91,000
402 212t X201 ™ 85,000 0 85,000
01 CI2tXEsx 85,000 0 85,000
O-XIAEZE HH| £(43A) 85,000,000 85,000
250,000 0 250,000
TAESIHY SESFEH CSFG XSHTAY - 199.0%
< 100,000
= 50,000
250,000 0 250,000
402 212t X201 ™ = 100,000
& 100,000
= 50,000
01 oI2tXEs8x 250,000 0 250,000
OL-S=e X2 (180=) 250,000, 000& 250,000
= 100,000
& 100,000
= 50,000
HERAAH(SE2UHA) 56,760 49,060 7,700
ClHASHH(SEURAA) 5,400 5,580 A 180
olEegH|(SEolaa) 5,400 5,580 A 180
203 YR F&H| 4,200 4,380 A 180
04 ENSIYERFZEHI 4,200 4,380 A 180
O 30210|ak 350,000& * 12& 4,200
204 AL AH| 1,200 1,200
01 HNHIHIHAY| 1,200 1,200
O IR HAH|
100,000& = 1% = 128 1,200
Jl2dul(sSeaaa) 51,360 43,480 7,880
Jl2dy|(ZSeelisaal) 51,360 43,480 7,880
201 LBt HH| 33,360 29,280 4,080
01 AFR2t2ld] 33,360 29,280 4,080
Ogdet=g2Y| 13,560, 000& 13,560
O] 5,000& = 30¥ x 11 = 128 19,800
202 044l 18,000 14,200 3,800
01 =Z2UWHbl 18,000 14,200 3,800
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